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MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following questions two equations numbered I
and II are given. You have to solve both the equations.
Give answer:

freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
ST GHTSHTUTE <hl BT AT 8, IT T

WAy @Ifx>y  @)Ifx<y @) IHx<y

(5) If x =y or the relationship cannot be
established/Ava=el TATUT AT FRAT AT TehaT:
11.104x + 63y = 14
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In the following questions two equations numbered I
and II are given. You have to solve both the equations.

Give answer:

freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
ST GHTSHTUTE <hl BT AT 8, IT T

MIfxy @Iy _@Ifxy (@) Ifx<y

(5) If x =y or the relationship cannot be
established/va=el TATUT T2 FRAT AT TehaT:
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@

In the following questions two equations numbered I
and II are given. You have to solve both the equations.
Give answer:

freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
T THTSRIUTE ehl BT hiAT B, I ST

(D If ) Ifx>y 3)Ifx<y @)Ifx<y
(5) 1f x =y or the relationship cannot be
established/va=el TATUT T2 FRAT AT TehaT:

.12x — 7y = 30

IL=9x+ 14y =9

3 \or— Q| ;—%T) (
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In the following questions two equations numbered I
and II are given. You have to solve both the equations.

Give answer:

feaferRaa gt & S wetervor 1 awt 11 2o 7o 2, ermuent
T THIHIUT hi TeT AT 2. I ST
&y]ﬁw QIfx>y @) Ifx<y @)Ifx<y

(5) If x =y or the relationship cannot be
established/va=el TATUT T2 FRAT AT TehaT:
1.66.6x + 22.2y = 133.2

IL 22.2X + 66.6y = 88.8
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In the following questions two equations numbered I
and II are given. You have to solve both the equations.
Give answer:

a;g%‘/'bg%/ (. freaferfRaa want & S aefierzor I a2 11 f2u e 2, sruest

ST GHTSHTUTE <hl BT AT 8, IT T

W Ifx>y @ Ifx>y @)Ifx<y @) Ifx<y

()If x =y or the relationship cannot be
established/TFa=¢r TATIAA TET TehaT AT TehaT:

o iy -
'g SZ/gcw )

J
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In the following questions two equations numbered I
and II are given. You have to solve both the equations.
Give answer:

freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
ST GHTSHTUTE <hl BT AT 8, IT T

M Ifx>y @ Ifx>y @) Ifx<y @) Ifx<y

If x =y or the relationship cannot be
establlshedwm :

H%i e
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4 In the following questions two equations numbered I
a/l X’J’b g =G and II are given. You have to solve both the equations.
q X + (2 Give answer: .
J freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
T THIRIUT hi BT BT 8. ST e

-l> X=0 (1) Ifx>y Q) Ifx>y (@)Ifx<y @)Ifx<y

(5) If x =Yy or the relatlonshlp cannot be
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In the following questions two equations numbered I
and II are given. You have to solve both the equations.
Give answer:

freferaa gt & S getervor 1 aot 11 fRu 1o 2, ermaent
ST GHTSHTUTE <hl BT AT 8, IT T

W Ifx>y @ Ifx>y @)Ifx<y @) Ifx<y

(5) If x =y or the relationship cannot be
established/Ava=el TATUT AT FSRAT AT TehaT:
116X — 20y = 467> 16x = o
II.MX—SYZ,?VO/} x= Yo

3 .
. 1(1%
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Calculate the exact value of the ‘x’ in the given following
questions:

oo o faferRaa oot & <x° o 9@t |11 <hY AT o

6 Xx16%X5+3—x%x2=096

(2) 6 b)7 2 (c)‘”s// (d) 9
AXIEXS 5%

S—
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Calculate the exact value of the ‘x’ in the given following

questions:

oo o faferRaa oot & <x° o 9@t |11 <hY AT o

28%2 —x3 =73 4+ 225

@6 (b8 OF (d)7 OF

FBL— A2 = 3L +995°
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Calculate the exact value of the ‘x’ in the given following
questions:

oo o faferRaa oot & <x° o 9@t |11 <hY AT o

298 —13%2 - 23 =xx 11
(a) 51 (b) 41 (c) 21 ‘~4(El) 11 (e) 31

RIB-[69-0 = 1%
=191

/1 bﬁ
~—_
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Calculate the exact value of the ‘x’ in the given following
questions:

oo o faferRaa oot # <x° o9&t |/ <hY AT o

3
3\/729+3§+x=\/16><9

(a)1  (b) 1.4 ‘/(c) 1.2 () 1.6
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Calculate the exact value of the ‘x’ in the given following
questions:

fu o FrAferRaa Tt @ <x° o |Et | T TUET

Q)
x% of 300 + V256 = 243 +3 + 7

(a) 18 “‘}) 24 (016  (d)28 (¢) 32
X+ ¢ = B)+F
Ix=719
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Calculate the exact value of the ‘x’ in the given following

questions:

fu o FrAferRaa Tt # <x’ o |Et | T TUET

x X3 +8=13512 x /122

%6 (b)ié; (c) 64 L7(d) 128 (e) 320

X
) BX

K
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Calculate the exact value of the ‘x’ in the given following

questions:

oo o faferRaa oot & <x° o 9@t |11 <hY AT o

2
;325/'%% = 17% of 500 + 10

@1 )05 ) ()0.25 (d)0.125 () 1.25

SN ey val
Ve
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Calculate the exact value of the ‘x’ in the given following
questions:

oo o et oot # <x° o 9@t |11 <hY AT o

V41836 ~-x+9 =12
@9 1136 (©13 (d) 15 () 17

e |

—

?(x/;(
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2( If the sum of upstream and downstream speed of a
= 9= IB% oat in a river is 36 km/hr and the speed of the current

3 iSs 3km/hr. Find time taken to cover 52.5 km in
gﬁ | downward?

~:; S ITg Tk AT T Tk T | STIAATE FR IUTATE Tl T
Jc vt 36 TemwfiysiaT & ait viid Ster & AT Ry =T 3
Torwfi/eieT 31 sraas fawm # 52.5 forft At gt aa sy

T A [T hITA?
i °% S \ﬁr\% (@2hr ((b)25hr ()3hr (d3S5hr (e)4hr

- (&
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A sum becomes 1.6 times of itself in five years at simple

rate of interest. Find rate of interest per annum?

Tk YARTIST ATLROT SATS SF UX giel 91 W ¥ T 1.6 TAT
B SATAT 21 el I STt X T hi a2

(a) 10% (b) 12.5% (c) 15% (d)12%  (e)
8.5%
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Ratio of present ages of two persons A and B is 3:2 and

after four years ratio of age of B to A become 7:10.

Then find the present age of B?

Fr Attt A 3T B 3T SAHT 31T T ATTUTE 3:2 § 3R
TR Y 6T T o q1E B A A T 37T 7:10 7 SATAT 2
e B Y IaAT g FTa Rt

(a) 20 years (b) 18 years (c)24 years (d) 36 years
(e) 30 years
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X =R)—F=1k C mT'he difference of circumference and diameter of circle
b A is 90 cm. If radius of circle B is 7 cm less than the
circle A; find area of circle B.

;/%XW o A % IRFRT 3R s ot 3ie 90 A Bl A o7 B A
ﬁwaﬁrA@Wﬁﬁ’rw% a‘r?frBam@awmﬁl
- }LJL/ X )‘7 (a) 556 em* (b) 616 cm* (c¢) 588 cm*?  (d) 532 cm’
= (U2 @©630em? LG~ Y= G0

15:
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’@ L1C°)5 H,;Bg‘
Je/'\/\

A man invested 15% of his monthly income in LIC and
remaining gave to his mother. Mother spend 10 % of it

e gﬁ%%ﬁﬁﬁ?usehold expenses and she had left with 30,600,

X\

- & 10,09 fng

then find the salary of man?

U S {xh o YT ATIeR 3T T 15% LIC § a9t feram
3R 919 37U AT T < foam |7 3 38T 10% o @t 9
Tl TR 3T 37k UTH ¥30,600 S 71T, A1 ST 1<h ehi AT
AT kI

a) 37,500  (b)T36,000 (c) 38,000 (d)T42,000

(e) 40,000
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5P If 7 marks are awarded to right answer and 4 marks

are penalty for wrong answer. Then Prabhat’s score
AKTF — ( 5 B_DQXQ =.J63vas 263. If he attempted S8 questions then find
number of correctly attempted questions?
A — R332 =8 fy 7 3o wdt 3ov 3 Foro R Tu § i 4 st e R
10 =49 5 & foTu 32 B) a8 T T TR 263 ol T 3E 58 Tt

T Ty fora @t agt foru o wan <hy deaT Jra w2
()45  (b)42  (c) 48 (d) 40 (e) 50
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One of the roots of ZX2 +bx—5=0 i@ (a) Quantity 1 > Quantity 2
Quantity 1: Value of the other root. (b) Quantity 1 > Quantity 2
Quazntity 2:2.5 . (¢) Quantity 2 > Quantity 1
2X“+bX -5 =0FqAHATH1T. (d) Quantity 2 2 Quantity 1
HEATL: AT Tt <hl HTHI

e) Quantity 1 = Quantity 2 or Relation cannot
HAT2: 2.5 (©)Q y Q y

be established

For Home Work
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fThank You\
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